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1. [34/85] Which arguments toount -0 bi nd could cause problematic befar
in recursve ommands such agm -rf
a. / home /var/ home
b. /varl /var
c. / honme /honme/ kel leyt/dir
d. / hone/ user/private /public
e. /var/ honme /hone
2. [37/84] Which of the following inocations ofconmand. sh would you least
likely see inside a shell script that do¢asecd?
a. conmand. sh b. /root/ bin/ conmand. sh
C. / bin/ conmand. sh d. usr/ bi n/ conmand. sh
e. /usr/bin/ command. sh

3. [41/86] Which line belav is most likely to be the beginning of an error message?

a. echo 1<& "... " b. echo 2>&1 "... "
c. echo 1>&2 "... " d. echo 2>$1 ... "
e. echo 2<%$1 " '
4. [41/86] Which of the followingnount options isnot one of the set adef aul t s?
a. auto b. usrquota c. suid
d. dev e rw

5. [45/86] What is the output (if any) of thisash shell program fragment?There
are blanks between all the letters in the word list section dfdheloop.)
str=""

for xinl i nuxr oc ks ; do
str="%str$x"

done

echo "$str"

b, XXXXXXXXXX
d. I'i nux

askcor xuni |l
C. li nuxrocks
e |
6. [47/86] If ashell scriptmyscri pt. sh is called this way:
.Inyscript.sh abcd
and the first line inside the script belthe script header is

shift; echo "$#$1"
what is the output of that line?
a. 2a b. 3b C. 4c d. 3a e 2b

7. [47/86] Which of the following commands could be used to disable padgsw

authentication for the usédeel | eyt ?
a. passwd -x kel l eyt

c. passwd -1 kel leyt

e. passwd_di sabl e kel | eyt

b. gpasswd kel | eyt
d. passwd -d kel |l eyt
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8. [50/86] Of the follaving directories, which would you expect to contain the most
system administration commands that requivet privileges?
a. /usr/bin b. / sys/admin/bin
C. /usr/local/bin d. /shin
e /bin
9. [52/86] If archi ve.tgz is a compressed tar arebi which command could you
run to produce a listing of its contents without extracting it?
a tar tzf archive.tgz b. tar xzf archive.tgz
c. tar tzf archive d. tar tgz archive.tgz
e tar tgz archive
10. [ 52/ 86] If you have a fle cr ont ab. mi ne of commands ircr ont ab format,
you could submit that file to be youvdicr ont ab file by running which of the fol-
lowing commands?
a. echo crontab.mine | crond
b. crontab < crontab. m ne
C. crontab -e crontab. mne
d. crontab -1 crontab.nne
e. crontab -r crontab. m ne
11. [ 54/ 86] What command line modifies and wes (in one command line) the home
directoryf oo to bar for the existing usekel | eyt ?
a. usernod -d -m/home/ kel | eyt bar
b. usermod -m-d /hone/ bar kel | eyt
c. usernod -d -m/hone/ bar kell eyt
d. usernod -dm /hone/ bar kel l eyt
e usernod -m-d /hone/foo /hone/ bar
12. [ 54/ 86] Which of the following commands auld you use configure thet t pd
daemon to run in runlels 2,3,4, and5?
a. service httpd on b. httpd run 2345
c. runl evel httpd on d. chkconfig httpd on
e httpd --levels 2345 on
13. [ 56/ 86] Which of the following options fobash or sh might useful for debg-
ging a shell script?
a -z b. -c C. -X d. -1 e -r
14. [57/86] What is the correct syntax to redirect both standard output and standard
error into the same output file?
a. ls -1 >bar 2>bar b.I's -1 2>&1 >bar
C. Is -1 2>$1 >bar d Is -1 >bar 2>&1
e |ls -1 >bar 2>$1
15. [ 57/ 86] Which of the follaving could you use as options for thar command to
extract a gzip-compressed areé?
a. -tgz b. egvf C. xzvf d. -czf e ezvf
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[ 58/ 86] Assuming you are not currentiyot and are audoer , which of the fol- 24.
lowing commands could you use to simulate a full logint &gl | ey without
knowning their password? 25,

b. sudo tkelley
d. su sudo tkelley

a su - tkelley

C. sudo su - tkelley
e sudo - tkelley

[ 59/ 86] To resume a stopped process in the background using Job Control,Nvhere
is the job number of the process & is its process ID, you would type

a. bg WID b. bg N c. fgPID

d. fg @WwID e fgN

[ 59/ 86] Which of the following commandsauld you use to resize axt 4 file
system to consume the remaining free space on its volume?

a. nkfs b. mkfs.ext4 c. fsck

d. resize2fs e. fsck.ext4

[ 60/ 86] Fill in the blanks. Thechr oot program takes a(n)
the for a shell or a command.

which will be

a. command, ajument b. directory argument 27.
C. option, input d. agument, ROOT directory

€. input, option 28.
[60/86] In the/etc/suoders file, what word goes in front oALL=( ALL)

ALL to allow the useadni n to run commands aoot ?

a. admin b. wheel C. sudoers

d. %admi n e. #admin 29.
[61/86] Which of the following commands would be used to add the user

kel | eyt tothe groupvheel ?
a. groupadd -a wheel kell eyt
b. groupnod -a kel l eyt wheel

c. usrgrp kelleyt wheel 30.
d. gpasswd -a kel l eyt wheel
e. useradd kel l eyt wheel 31

[62/86] Acrontabentryof 6 5 * * * /bin/someconmand
would runsormecomand when and he often?

a. at 6:05am eery day

b. at 5:06am eery day

C. at 6:05am eery business day

d. at 5:06am eery business day

e. at 12:05amwry business day and Saturday

26.

32.
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[ 62/ 86] What command would you use to list yauir job numbers?
a. at -v b. at -q c.at -m d. atq e at -c

[ 62/ 86] Which of the following would best describe the ordering eélkein Logi-
cal Volume Management (LVM), from bottom to top?

a. volume group, logical volume, physical volume, file system

b. physical volume, logical volume, file system, volume group

c. physical volume, volume group, logical volume, file system

d. volume group, physical volume, file system, logical volume

e. logical volume, physical volume, file system, volume group

[63/86] If string=linu then which one of the folleing case patterns will
match this statement:case "$string" in

a [linul] | [LINU ) echo yes ;;

b. 1 ?2n? ) echo yes ;;

C. (*inu echo yes ;;

d. @) echo yes ;;

e ?linu? ) echo yes ;;

[63/86] Whichf di sk internal command letter displays the list of all partitions?
a. | b. L c. q dp e f
[ 66/ 86] What would be the output of the following command line:
echo a b ¢ | awk "{print $NF}’
a. 3 b.abc c. NF
d. no output e c
[66/86] Which of the follaving commands could be used to force the user

kel | eyt to change their password the next timeythog in?

a. passwd kel | eyt b. chage -d 0 kel l eyt

c. force -d 0 kell eyt d. passwd -d 0 kell eyt

e. gpasswd kel |l eyt

[ 67/ 86] What command will she the amount of free disk space in a partition?

a. nmount b. fdisk c. df d Is e find

[67/86] Which line belev puts the count of the number of lines in the password file
into the variableount ?

a. count=$( wc /etc/passwd | awk echo $1 )

b. count=$( cat -c /etc/passwd )
c. count=$( wc -1 /etc/passwd | awk "print $1" )

d. count=$( wc -1 </etc/passwd )

e count=$( awk -F:. /etc/passwd | wc -1 )

[68/86] Inan argumenttosync orscp a mlon would come immediately after a

23.[62/86] If bar is a directory that contains only the fil®@o and/dir1l is an a. absolute pathname b. local file C. remote host
empty directorywhat is in/ di r 1 after running the following command? d. remote file e local host
rsync -avH bar/. /dirl
a dirl b. bar C. nothing
d. a ymlink to foo e foo
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[ 68/ 86] To e a list of disk partitions that therkel has detected, you could look at
the contents of which file?
a. /lib/partitions

C. /proc/partitions
e /dev/partitions

b. /etc/partitions
d. / dev/ sda

[ 69/ 86] Which of the following commands could be used to bring a system into sin- 43.

gle user mode?

a telinit O
c.init O

e. shutdown -h now

b. telinit 6
d. shut down now

[69/86] Which of the following commands on a Unix/Linux system displays the 44.

processes running on the system?
a. pstree b. pstop
d. psls e toplist

[ 71/86] Which command on a Unix/Linux systenowd you use to run aar
command at a less urgent scheduling priority to let other processes with a more
urgent scheduling priority run first?
a tar -n b. fg
d tar -10 e. bg

[ 72/ 86] What would the following command doat 7pm
run the user'sr ont ab jobs at 7pm

run the user'sr ont ab jobs every day at 7pm

iSsue an error message

read commands from stdin to be rwerg day at 7pm
read commands from stdin to be run once at 7pm

[73/ 86] Thecr on system can run commands at mogrg

a. hour b. second c. day

d. minute e. millisecond

[ 73/86] To ®nd aSI &Kl LL signal to a process with processPID, which of the
following commands would you use?
a. kill PIDSI &I LL

c. send -SI GKILLPID

e kill -SIGKILLPID

[ 73/ 86] Which of the following is a properay to change théet c/ sudoers
file?

a. nano /etc/sudoers

C. vim/etc/sudoers

e. echo > /etc/sudoers
[ 74/ 86] A - H option tor sync would cause it to

a. work verbosely b. not overwrite newer files
C. overwrite newer files d. presere timestamps

e. presere hard links

c. listtop

C. nice

pRoo

b. send PID SI &KI LL
d. signal -SI&KILLPID

b. vi /etc/sudoers
d. vi sudo
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[ 74/ 86] When you create a user and their home directory wgér add by defwult
the home directory will contain copies of files from which directory?

a. /etc/ skel b. /etc/login.defs

c. /etc/default d. /etc/sysconfi g/ def aul t

e /etc/profile

[ 76/ 86] Which of the following commands could be used to create a group named

wheel ?

a. gpasswd -a wheel
Cc. groupadd wheel

e. newgrp wheel

[ 77/ 86] Which of these statements is true?

a. you can only remee a fle name if the file is writable by you

b. you can only remee a fle name if the file is owned by you

C. you may be able to rename a fileeif you do not own the file

d. you can change the permissions of file to which you can write

€. you can only malinks to files owned by you

[ 78/ 86] Which of the following commandsauld you use to start the t pd dae-
mon, if you had just installed it and if it were not already running?

a. httpd service on b. kill -SIGSTART httpd

c. chkconfig httpd on d. go httpd

e service httpd start

[ 79/ 86] Fill in the blanks. If you try to a filesystem, and the commeits] f
you might use the command to look for the cause.

a. nount, fsck b. unount, nkdir c. fsck,
d. mount, nkfs e nkfs, rndir

[ 79/86] Which of the following commands would you use to install teé | x
software package (and its dependencies) on your CentOS virtual machine?

b. gshadow -a wheel
d. gpasswd -c wheel

rm

a pkg -i mailx b. yuminstall mailx
C. yum-i nmailx d. pkgi nst mail x

e install pkg mailx

[ 80/ 86] Which of the following signals cannot be handled or ignored?
a. SI &KILL b. SIA NT c. Sl GHUP

d. Sl GSUSP e. S| GTERM

[81/86] Fill in the blanks. @ perform critical filesystem operations, you should use

mode, lweneafer would be mode.
b. single-user'Live (D"
d. rescue, power-off

at least the safety of
a. "Live CD", multi-user
C. single-usermulti-user
e. runlevel, "Live CD"
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50. [81/86] Which of the following commands could be used to createva user This page intentionally left blank.
namedkel | eyt , with full name "Todd Kelley" ?

useradd -c "Todd Kel | ey" kel | eyt

passwd -c "Todd Kel |l ey" kel | eyt

newuser -c¢ "Todd Kelley" kell eyt

newuser kelleyt -c "Todd Kelley"

usernod -c "Todd Kelley" kell eyt
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